CE 437 — Quiz 2

Problem 1

Determine the maximum service load, which consists of 40% dead load
and 60% live load, that the column shown below can carry.

All steel has Fy 50 ksi and F, 65.

MC 12 x40

\

Wi12x50

J

MC 12 x 40 |

Cross section of column %, %,.




=
t’. ]
4 Q g
y xi F. ! A
I :I 4—21 P - =
2-2 XCw) Al ) [ — W 3
el 2 (273) = G337 v’ L .
2 I‘] -
1 r .2
J

J-f;
EQ""' \ L — x L_L.J’—1,4~— A A
- Ffwj F(M{, M I|| ',
= L (< 55)4_?» - i (S 4
=&, . g1 M .

-

I —5£3+2[I3?+r|55f6b1'];- 1204 (n




i

— \522.3 Ik.Ps

? 91_‘ 2 lli;‘).L ;‘ o & ( v
LN -
- ~f .- &3,k

ol

PR 144 P> 5



G2 ¢
L2 ( | B + V6 (2Ge) - 572 Im}')“’

e 5on e g Due Cli ((Wealt oxs) 4

J

s

,];‘;";.,h(, :} &5 _11’3 fe ;;If"‘ﬁ 15 me}\ ]"_\S o
&

_/1;;) C”; = (J > )( lo ) = S 5‘] > Wlere kj a8 a3 /PM/'Q—_E'K‘:S
Cand)(hion o Veein anklel

] wr‘-fé Ll g f%

. w  CRC) _
J )/( = %’&
b, (, 71

=) X ax,5 Garsls g

th kL - b5sfle
w G 'o)( 6-4 A/Jﬂl e

=T .l'I [ wartt 1o be Gy e i1,
o392 3rmel = BOEER & N7

I l’t ﬂ“?ﬂm mﬁu.gC
._mtnum £ ?n:' Viams ahc ( \a.qu:




